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ﬁg TREOBBOEILNOKRES TERFDOHBEEILNOKRES TRZEOBEBOSILENDKRES TREOHBESEILADKES
R o | BT e | B2 | e | o e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 473 58.93| #nLlst |0.00 ~ 0.00| 1.65 8.85 s 1.00f 500 ~ 5.00 58.93| #n L4t | 500 ~ 500 1.65 8.85
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 512 63.83] =nLlst | 000 ~ 512| 2.13 11.40 s 1.00f 500 ~ 7.20 63.83| =nLl4t | 500 ~ 7.20f 2.13 11.40
3 100kN/m##8 %% 1.00{0.00 ~ 0.78 111.60| 3m%x#B 25 = Rt = = —| 100kN/mM%#2Z % 1.00{ 10.57 ~ 12.80 111.60| 3m%x#B 25 =l ~ - - =
s 1.00/0.78 ~ 8.56 100.00f Z=hki4t+ |0.00 ~ 8.56| 2.23 11.95 s 1.00f 5.00 ~ 10.57 100.00| Z=hl4t+ | 5.00 ~ 12.80] 2.23 11.95
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
ZHnLs 1.00{0.00 ~ 7.17 91.18] Zh L4t 1000 ~ 7.17| 1.95 10.44 s 1.00f 500 ~ 9.85 91.18| #hkl4+ | 500 ~ 9.85 1.95 10.44
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00] 0.00 ~ 457 56.98| Zn L4t |0.00 ~ 457 1.92 10.28 s 1.00f 500 ~ 5.10 56.98| #n L4t | 500 ~ 510 1.92 10.28
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 7.56 96.79| =h L4t | 000 ~ 7.56| 1.78 9.53 s 1.00f 500 ~ 9.98 96.79| #h L4t | 500 ~ 998 1.78 9.53
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 7.64 97.86) =h L4t |0.00 ~ 7.64| 2.00 10.71 s 1.00f 5.00 ~ 11.00 97.86| =h L4t | 5.00 ~ 11.00f 2.00 10.71
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00]0.00 ~ 7.65 98.00f = Llst |0.00 ~ 7.65| 2.02 10.82 s 1.00f 5.00 ~ 10.82 98.00f Z#nLl4t+ | 5.00 ~ 10.82| 2.02 10.82
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 258 33.92| #nLst |0.00 ~ 258 244 13.07 s 1.00f 500 ~ 5.08 33.92| #nkist | 500 ~ 5.08] 244 13.07
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 6.63 83.71| #hLlst |0.00 ~ 0.00] 1.62 8.65 s 1.00f 500 ~ 8.45 83.71| #h 4+ | 5.00 ~ 845 1.62 8.65
12 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 4.64 57.87| #h L4t | 000 ~ 4.64| 1.86 9.94 s 1.00f 500 ~ 5.00 57.87| =4+ | 500 ~ 500 1.86 9.94
13 100kN/m##8% % 1.00{0.00 ~ 0.73 110.86| 3m%x#B =25 = Rt = = —| 100kN/mM%#BZ % 1.00{ 12.67 ~ 16.35 110.86| 3m%x#B =25 =l ~ - - =
ZHnLs 1.00]0.73 ~ 8.51 100.00f Zhkl4t |0.00 ~ 8.51] 2.10 11.23 s 1.00f 500 ~ 12.67 100.00f Z=hl4t | 5.00 ~ 16.35] 2.10 11.23
14 100kN/m##8% % 1.00{ 0.00 ~ 0.82 112.21|3m%x#B2 5 = Rt = = —| 100kN/mM%#2Z % 1.00{ 11.57 ~ 14.83 112.21| 3m%x#B 25 =l ~ - - =
s 1.00/0.82 ~ 8.60 100.00f Z=hkl4t |0.00 ~ 8.60] 1.99 10.67 s 1.00f 500 ~ 11.57 100.00f Z=hl4t | 5.00 ~ 14.83| 1.99 10.67
15 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 288 37.31| =xnkist | 000 ~ 288| 2.36 12.62 s 1.00f 500 ~ 5.02 37.31] #nkist | 500 ~ 5.02| 2.36 12.62
16 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 474 59.06) Zh L4t |0.00 ~ 4.74| 1.79 9.59 s 1.00f 500 ~ 5.00 59.06| =hbLlst | 500 ~ 500| 1.79 95_9
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R o | BT e | B2 | e | o e | B2 | B TR e | B2 | T | & | T
17 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 5.16 64.31| =hLlst | 000 ~ 5.16] 2.20 11.76 s 1.00f 500 ~ 7.94 64.31| =4t | 500 ~ 7.94| 2.20 11.76
18 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 6.11 76.65| =nLlst | 000 ~ 6.11] 1.90 10.15 s 1.00f 500 ~ 7.38 76.65| =hLlst | 500 ~ 7.38] 1.90 10.15
19 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 423 52.93| #hLls |0.00 ~ 4.23] 2.01 10.75 s 1.00f 500 ~ 5.00 52,93 #hls+ | 500 ~ 500 2.01 10.75
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ ZFhLst ~ st ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Zhst ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
Fhst ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
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